
Staticky neurčitá rovinná 
příhradová konstrukce

� řešení silovou metodou
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Prut l  [m] N 0 N 1 N 2 N 0 N 1 l N 0 N 2 l N 1 N 1 l N 1 N 2 l N 2 N 2 l

1 5,000 5,000 1,000 -0,707 25,000 -17,678 5,000 -3,536 2,500

2 5,000 0,000 0,000 -0,707 0,000 0,000 0,000 0,000 2,500

3 5,000 -5,000 0,000 -0,707 0,000 17,678 0,000 0,000 2,500

4 5,000 -10,000 0,000 -0,707 0,000 35,355 0,000 0,000 2,500

5 7,071 -7,071 0,000 1,000 0,000 -50,000 0,000 0,000 7,071

ΣΣΣΣ 25,000 -14,645 5,000 -3,536 17,071
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Prut N  [kN] tah/tlak

1 0,00 -

2 0,15 tah

3 -4,85 tlak

4 -9,85 tlak

5 -7,28 tlak

6 -0,21 tlak



Staticky neurčitý 
rovinný oblouk

� řešení silovou metodou
� numerické řešení
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Zatěžovací stavy
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Analýza střednice
� rovnice paraboly 
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Numerické řešení
i x z tgψ sinψ cosψ M0 N0 M1 N1 M1

2/cos N1
2/cos M0M1/cos N0N1/cos

0 -7,50 3,00 -0,80 -0,62 0,78 0,00 -3,12 0,00 -0,78 0,00 0,78 0,00 3,12
1 -5,00 1,33 -0,53 -0,47 0,88 12,50 -2,35 -1,67 -0,88 3,15 0,88 -23,61 2,35
2 -2,50 0,33 -0,27 -0,26 0,97 25,00 -1,29 -2,67 -0,97 7,36 0,97 -69,00 1,29
3 0,00 0,00 0,00 0,00 1,00 37,50 0,00 -3,00 -1,00 9,00 1,00 -112,50 0,00
4 2,50 0,33 0,27 0,26 0,97 25,00 -1,29 -2,67 -0,97 7,36 0,97 -69,00 1,29
5 5,00 1,33 0,53 0,47 0,88 12,50 -2,35 -1,67 -0,88 3,15 0,88 -23,61 2,35
6 7,50 3,00 0,80 0,62 0,78 0,00 -3,12 0,00 -0,78 0,00 0,78 0,00 3,12

30,02 6,26 -297,71 13,53
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